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The Three Little Pigs 
Boxes-and-Bullets Essay Structure 

 

Claim: The third little pig is so ____________________ (trait) because 

____________________________________ (one reason), __________________________ 

(another reason), and above all, because __________________________________ 

(a third reason).   

 

Body Paragraph 1 

The first reason why the third little pig is so _____________________________ (trait) is 

because (first reason) _______________________________________________________.  

For example, A _____________________________________________________________.              

“This shows…” or “This illustrates…” ___________________________________________. 

Then, explain how the example fits the claim.                                                                      

For example, B _____________________________________________________________. 

“This shows…” or “This illustrates…” __________________________________________ . 

Then, explain how the example fits the claim.                                                             

Then, repeat your claim. 

Body Paragraph 2 

Another reason why the third little pig is so _____________________________ (trait) is 

because (second reason) ___________________________________________________.  

For example, A _____________________________________________________________.              

“This shows…” or “This illustrates…” ___________________________________________. 

Then, explain how the example fits the claim.                                                                      

For example, B _____________________________________________________________. 

“This shows…” or “This illustrates…” __________________________________________ . 

Then, explain how the example fits the claim.                                                             

Then, repeat your claim. 



Body Paragraph 3 

The last reason reason why the third little pig is so _____________________________ 

(trait) is because (third reason) ______________________________________________.  

For example, A _____________________________________________________________.              

“This shows…” or “This illustrates…” ___________________________________________. 

Then, explain how the example fits the claim.                                                                      

For example, B _____________________________________________________________. 

“This shows…” or “This illustrates…” __________________________________________ . 

Then, explain how the example fits the claim.                                                             

Then, repeat your claim. 

 

Conclusion 

Restate the claim.   
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